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Paper : I (Group:I) SWL,[O-G,.. Lo (.f:ftlg) II : 54
Marks : 12 Objective (%) 12 : A
Time : 15 Minutes Code : 7461 < 15 1
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Note'- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

1. 4. The process of inhaling oxygen and exhaling carbon dioxide _u_’;55@‘12.6‘,4I,_fi’LJ'TJISuJi;K;:I .«."...)E,Vlﬂ;"-’gf -1 41

is called:
anaerobic respiration U FL e (B) aerobic respiration o FoL gl (A)
respiration I (D) gaseous exchange J:L:Kur*:"// (C)
2. Secretion of rubber plant is called: e (Weatilisdnt e it 22
latex % (D) resins 2ys (C) mucilage é’f (B) gums 4 (A
3. Which one of the following decreases the concentration of glucose in blood? . da‘_J/?:ﬁ!ﬁﬁ:’;ﬁj-’o? -3

calcitonin ™ (D) testosteron usds (C) insuiin @&~ (B)  glucagon o&¥  (A)

4. Which types of coordination is found in plants? %.J@Jgﬁﬁiﬂfgffju’ruiu»g -4
nervous (is (D)  electrical J‘/i}?f (C) mechanical ﬁ‘b (B) chemical &< (A)

5. The cells of cartilage are called: wgam-?‘s’&éfﬁv .5
chondrocytes u'**(L/ui:K (B) osteocytes s (A)
osteoclats | JWdw (D) collagen oaalss  (C)

6. The units of androecium are called: ‘ %, A m?:;},- i B
sepals A (D) siémens_' ;’-j’ (C) carple ;J:;b’ (B) - . anther }J‘r (A)

7. Specific combination of genes in an in‘d‘iv.idual. is:‘__c_;___a,ll,ed:\’-'-.__ ol E S AR A T
genotype s " (B) 4 phenotype AL (A)

. \ ¢

heterozygous U'J;U; A !?h';y . homozygous J i (C)

L iﬁ - ’ - b i

~ 8. Number of hydrogen bonds between adenine ahd thﬁine is: 's,q.dmlﬁﬁj,ﬁgg’wi’yupxicﬂdtﬁ sl okl .8

T

S our A (C).Fone g (B)  tee £ (A)
9. Total amount of living matter in an ecosystem at - it -q_,&ik‘:’ﬁufd/z_ﬂtoﬁi ’K’”v’-u:—:’!u-ﬂuffurf.’..{f g
any time is called: 1 ’ J

Food web w2s3# (D) Food chain o232 (C) Energy“": J.}l (B) Biomass £l {(A)
10. Symbiosis in which both partners get benefit is: q;_,gLQTM’EQ}J)»JJ’:U—’L}U! 210

competition J’-’fo;( (D)  predation ¢Phs (C)  mutualism (% (B) parasitism Az (A)

11. Treatment through genes is called: _4.f:|gfeu;4.u£;a>- 11
Genetherapy Q-?,;(wf (B) Chemotherapy Jf /?y:f, (A)
Physiotherapy Q!}g;" (D) Radiotherapy & Ay 4 (C)

12. Antibiotics inhibit or kil _tGa L urdnoBadh 12

yeast Jet (D) bacteria Ji & (C) 1cé\riruses furts  (B) worms S (A)
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Biology (U « I 2\ikE) GI¥
Paper : II (Group:I) SWL "'0"41"10 (_,,)iw) I : gy
Marks : 48 Subjective (3D A

Time : 1:45 Hours o ) 445 =
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Note : Section I is compulsory. Attempt any Two questions from Section II.
(Section - I Jil)

2. Write short answers to any Five Parts : (5x2=10}) -Z:;aglzﬁ"'f.»mlél;a.df -2
i. Differentiate between breathing and respiration. ' ,:f_;-,’i,buj}u':cﬁ’;ij il ._)"’ -
i. What is the function of stomata in the leaves of plants? ﬁ'.g,'b/gb’laﬁfuﬁw”éﬁu»{ i
iii. Define Bronchioles. L& S i
iv. Differentiate between dew and guttation? ) -é&/u‘.fff 2l r‘; -iv
v. Define Transpiration. _ . -;—._@/JJJ%/’L;JI) Y
vi. Define Nerve and write the name of its two types. -fﬂ(t{;rﬁﬁ p S GBS v
vil, What is Brain Stern | S Vo i
vii. Define Exocrine'Glands. ¥ g’ . _é-dpéf({;b,‘fwﬁr/%] _viii
3. Write short answersto aviy Eive Pt (5x2=10) TNy 115 1)
i. What isﬁfurllctioﬁ of vef’(gBral,crolumn? _.’i{ugJ;’ﬁ)&U,ﬁ-s 5]
i, Differentiaté between Bicéps and Triceps. ; Y fdﬁj'f' 4 J{JQ ~li
lii. Define Budding with an example JEJe u }-(_éf/'"J..fi» -iif
iv__l.What is@ndroecium and give its units? g ﬂ'z_.l;\;b’fdu’l 4.’/[‘%;% v
0 WhHat is tranélatién in DNA? . . ) "a.ﬂfl,c. uﬁ'bffi.,&f DNA v
/ vi.- Give any two reasons that, why did Mendel il,fu/ulﬂb’;gré_/r’_;_uLf.:_w._Jﬁfix BENT 'jos( Vi
‘.'L "% select pea plant for his experiments? i‘a% &Y ’{
vii. Déﬂné Theory of Special Creation. ;/ J}. o .-f;‘:‘;_ér/?@/’jﬁu"}%‘r“" -vii
viii. Défine Law of Segregation. M}‘u dﬁéhgﬁ&y%'g/?_sﬂu _viii
4.  Write short answers to any Five/..F';ar‘tlz: i {5x2=10) H&:_»,Lli/‘??épl?rébaljf -4
i, Define Ecoéystem Write two e§é’mples o"f”:NaturaI Ecosystem. ' o 'V-L-' 2 dr‘ r(qu» éi_zf/tf ¢
li. What are Ecological Pyram,ggﬁ? Wrrteﬁlfs 1wo typés « _ -.ﬂgl./LJl mJJJ ?L;_.*ﬁ,u.;;‘)?.nfr _ii
ii. Define Predation and give: an exar‘nple 4 ,:i:;-JL*A..{I il 54;\.;\)2%, i
iv. How does smog form? W:Tte |!s “affects. _ ' Sy ey ‘-‘ng.n?'c;(..ﬁ-" -iv
v. What is meant by Genetic Engineering’?ﬁv ‘c-_yl[ad..fr:"'u_(? v
vi. Write the use of following: - KJW’I&{)C‘,}; i
Urokinase Enzyme |fl;':l,‘ffb’»g (i) Thymosin Harmone ur;n{;-,fy‘ufla? (i)
vii. Define Hallucinogens and give two exampies. -Z‘T:J,'ljf» 1 Z_{‘..i»f;u}ﬁ?fufﬁ -vii
viii. What is meant by Pharmacology? Se st e GG v

( Section -II_¢» =)
(Each question carries Nine marks (4+5=9) A 3 L

5. (a) Write note on hydrophytes and xerophytes. ,_zﬂ‘j.:,i.;ﬂus:f} sl u"‘fLiul’g (a) -5
(b) Write note on midbrain and hindbrain. sy o Sy sl ok (D)
6. (a) What are Ligaments and Tandons and what function ‘=':.{,?Z;-)|’EF/'JLJJ&I ! L_Ei-ﬂkrfr’i':: S0 (a) -6

do they perform?
(b) Write about any five ways of Natural Vegetative Propagation ‘c‘ffdh/n.yuﬂ/"fﬂa.dﬁrf- u’:“c’/r'gf;.) f—d ing (b)
of plants.
7. {a) What is Fermenter? Explain batch and continuous Fermentation. __.\_mL.nJgf" )J' s AL ‘LLI}"/ (a) -7
(b) Define Vaccines. Describe the mode of action of Vaccines. & u;:;g}a’é_.)r&’/_ﬁ% ,é,.-:...,‘;/’szJ'-: (b)
f% 117 - 220 - 29000
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r._,LfLILH:/';,.al:&)ﬂr/._n..f'?'_xuﬁ..ufbuul Jh.a;_LfLny/— QKJL? |_J"rJ_;._: D.WwC, B A ...,_;Ur_ﬁ;lo&d'rf oy
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark. :

1. 1. The drugs used to reduce pain are: -ufaLufdfsé_.x'?:» -1 A
vaccines ;#:'!ﬁ: (D) antibiotics | r»d‘i (C) analgesics JC:‘UfI (B) sedalives Jxa (A}
2. One of the followings is an antiviral protein: -.‘LL'J:F).__{ (A1) Sl o -
interferon 2 #1 (D) urokinase %y (C) thymosin oyl (B) instdin ;;-‘-'_yjl (A)
3. When Rabbit eats mustard plant, its trophic level will be J/ﬁwdﬁ....fﬁbl,f{?:;.t'ié/i.:{_'b’wf/ Vs _3
primary consumers ;,/_ffjj/f.,; (B) primary carnivores bug}.sﬁj’/t; (A)
primary producers iy 'JJU/L/ o) secondary consumers J/g_;f@,i‘-? {C)
4. The change of nitrogen gas into nitrates is called: g tJ-ft.nJ,vu‘u—;-La’uJV w4
nitrification ;r‘f-”%/t (B) nitrogen fixation -;,r"-f"[:-,ﬁ,-_,,’-’t (A)
ammonification ,f*’“": (D) denitrification cr“-‘%,b’w; C)
5. Transcription is carried out by: ‘.}?-Fd dlu_,tui_ ;!_L,r u A5
chromatids &L/ (D)  DNA «I/if: (C) ribosomes vl (B) mRNA 4~
6. An example of co-dominance is: _é,di‘}.ju"-’k;i—f/ -6
blood group B 7;/;_,__3: .. {B) . blood group A ._7,,;3: (A)
blood group © .._.-3)?}1; N (D)a\ blood group AB ..f.,sf;;, ()
7. The material containing sperm and fiuid ig‘lrié1ied; f‘? % il L.M’);_,.Uuﬁ%_;}f- il
. o it e
plasma i (D) serm‘n (/“f (C) é‘;-r'semertr vt (B} secretion S (A)
8. Appendicular skeleton is composed of bones: \ =3 {_ | K . _gga_ﬁugéufy-&%yfi;' -8
126 (D) 300 (v:;} 5 o % (B) 80 (A)
9. The unit of nervous system is: . & jt\k . -c;_J"s'!J("LG) -9
nephron s & (D) neuron fael (C) \}ﬁ‘aQ/e )! (B) receptor & (A)
10. The middle layer of human eye is: ‘. -gi:__‘if'd'.“fw SET3U 10
choroid X (D) retina s (C) comea L (B) sclera ',!5:’ (A)
11 The tube between kidney and urinary bladder is: ~e Ubend itk m sy o il <
renal tubule d:,fxf(ﬁ) (D} nephron & {C) urethra | 55:’ (B) ureter zs  (A)
12. A respiratory system disorder involving the breakdown et o0 Lig_}L’“Juf;j?'dﬂgud/f’/d;: o 12
of alveoli is:
bronchitis u;fb?'.sz (D) pneumonia ¥ (C) el/‘r/}physemq b (B) asthma . (A}
Ty
C,// 118 -220 - 19600 Sy fror
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Note : Section I is compulsory. Attempt any Two questions from Section I1.

(Section - I i)
2. Write short answers to any Five Parts : {5x2=10)

. What are intercostal muscies?

i. What is pleural membrane? Write its function.

ii. Give difference between acute bronchitis and chrenic bronchitis.
iv. What is Hilus?
v. How does skin control human body temperature?
vi. What is the contribution of Ali [bn-e-Isa in Biology?
vil. What is goitre? Write its cause.
viii. Define Stimulus.
3. Write short answers to any Five Parts : (6x2=10)
i. What are joints? . ~
i. Write two causes of gsteo-arthyritis.
iii. Define Parthenogenesis. "
. Write the names of reproductive whorls of flower.
v. What is translation? |
vi. Differentiate between monohybrid and dihybrid cross.
vii. What is co-dominance?
viii. Define Gene Flow. ™

4. Write short answers to any Five Parts: { E5x2=10)
i. What is meant by producers? Give one example.

ii. Define Community with an example.

i. Define Biotic components of Ecosystem and give an example.

iv. What is meant by Biogeochemical cycle?

v. What is Fermenter?

vi. Define Single Cell Protein.

vii. Define drug and name one synthetic drug.

viii. What are Antibictics? Give one example.

( Section - II _¢» )

(Each question carries Nine marks {4+5=9)
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5. (a) Discuss the function of kidney in detail.
(b) Explain peripheral nervous system.
6. (a) Explain types of joints in human skeleton.
(b} Explain male reproductive system in Rabbit.
7. (a) Explain following:

(i) Alcoholic Fermentation

(if} Lactic acid Fermentation ,//;
/",y A
. _— &
{b) Explain sources of medicinal drugs. ( v
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